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SECOND YEAR HIGHER SECONDARY EXAMINATION SAMPLE QUESTION PAPER
Part - Il
ECONOMICS
Maximum : 80 Scores Time : /2 Hours

Cool-off time : 15 Minutes
General Instructions to Candidates :
There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.
Read the instructions carefully.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 10 questions from 1 to 12. Each carries 1 (1x10=10)
1 go@d 12 aeeqss agodelgl 10 6al0GiERUBE) DOM@. MMM, 66EITIM. 1 empod alla.
1. 1 Problem of choice is arising out of:

a. Scarcity of resources

b. Abundance of resources

c. Limited wants

d. Unlimited resources

. OlEOETMSEND af)(M @JUBMo DEMRIGINED
a. alleErges oGRIRY

b. oﬂ@mmgos WoEIsIoD. .
C.alRll®RIQ @YQUUDYEERUD

d. aiclwlolgjoom alleaerud

2. All the central economic problems in a capitalist economy is solved by
(a) Price mechanism

(b) Planning

(c) Government

(d) None of these

8@ OGO TLMIBKAINOWIGE oG EE3 TVIMIOBIS: @JUYEBSE. alBlaDGlERAMOY
(a) allar cvsaillwome

(b) @ry@emo

(c) waeeady

(d) aewomagy

3.The shape of AFC curve is

(a).’U’ shape

(b).inverted ‘U’ shape

(c).rectangular hyperbola

(d).horizontal



AFC ali@omilon @Ry

(a) U eoyg ol

(b) @maividleom U @oeol

(€) 0gwaIB BOaNAIB GeNIS

(d) @levaim.

4. Which of the following cost will be zero when production is stopped
(a).Average fixed Cost

(b).Total cost

(c).Fixed cost

(d).Variable cost

£j96Mo MIBEWEMINB oJRBj BRYGM O.2IRIOf aGMIET?

(a) eIW®E] rudle 6 .aleial

(b) ®@m00® ©al0IQY

(c) rudle eacial

(d) alleess earial

5. Choose the macroeconomic variable from the following
a. Income of a person

b. Income of a nation

c. Price of a pen

d. Profit of a firm

Mlojo@M@iIE3 alary rYegmLIMICTIE:UBOTYaIR. HDEOETINGERID
(a). em aeTlQes AIBAIM.

(b) e EomyETIOMD QUBDIM.

(c). caines aflal

(d).s8@ aqundaimoiled eioe.

6. Which of the following is a function of commercial banks

a. Issuing notes

b. Act as bankers bank

c. Custodian of foreign exchange reserve

d. Accepting deposits



oaies oarigesaiaiad aoemismimionsges wadamoe ogmoem

(a). emogeu8 @gslaflossame

(B) enuom»0@] (@Jaidmmilesmo.

(c).allesuemosmy @@ B euaIEOBIOM

(d). Mestalsenud auile:@lesmm

7.. The ratio between change in consumption to change in income is;
a. Marginal Propensity to save

b. Marginal propensity to consume

c. Average propensity to consume

d. Average propensity to save

DaleRINABIHAI 20QQJe AUBROMOBIHRIZ0QC CALYSHS @RMAIM0;
a. MIlaemVLIBYaJAUIEM®

b. Mo ©aleEIW @alemo

C.0REIUE| OalRIY) (JOIEM®

d.eeoteEl CruMIEY (JaEM®

8. Which one of the followings is not related to Returns to Scale?
(a) Increasing Returns to Scale (IRS)

(b) Constant Returns to Scale (CRS)

(c)Decreasing Returns to Scale (DRS)

(d) Negative Returns to Scale (NRS)

COIGMTVAYSS (JORPWY20W IMWOISITDND.

(1) cIdeLEOIM P, (IRS)

(b) crudle oo (CRS)

(c) @RAlIW (mPD. (DRS)

(d) emundlal @mpwe (NRS)

9. Technological progress leads to;

(a) Leftward shift of supply curve

(b) Backward shift of supply curve

(c) Decrease in supply curve

(d) Rightward shift of supply curve



quoeE:mile allayQes oje@IN®I &:6mM.

(a) BomIB e 0SEEMIS aflag ®alQo.

(b) @romaI@e allossleans adllng ©aigan.

(c) @BOM. BOQM.

(d) @Bamal®e QeleEmog’ olog 6.21Q)M0

10. "General Theory of Employment Interest and Money" is a famous book written by
(a) Amartya Sen

(c) Alfred Marshall

(b) J. M. Keynes

(d) Paul A. Samuelson

@Ry enjes “@BMOM IQA] Boad afloGeoencd eomoqy’ @Ry asml' ageaiooy
(a) @rRadmy LM

(b). &m.ag)e.erBH@IMWTY

(c) @R@Bny MIBUm®D

(d) GatdUd ag)e. MVLOGQIBITLD

11.The government imposed upper limit on the price of a good or service is called
a. price floor

b. market price

c. price ceiling

d. equilibrium price

rLOWMEBBUBER. GIVAIMEBRUIER. MO Mlvaiiaam agoae @dm afleiosny
(a) @oallal

(c) aler ai@lw]

(b) ®emios aflal

(d) cvgmeiom allel

12. Devaluation of currency is related to;

a. Fixed exchange rate

b. Flexible exchange rate

c. Floating exchange rate

d. None of the above



&ommiQes @pIgeIM. (el &:0&@3) DDA mIMWensidlesmmo;

a. mudle mlees

b. eag@lenilud ag@ealeal cog

C. €agogleuy allmla mleds

d. spaiewomengy

Answer any 6 question from 13 to 19.Each carries 2 scores (6x2=12)
13 go@d 19 aeeQes cpomlae 6 6210BEIEBRUIEE POME. M. 6IEIMIMR. 2 8@ aflme
13.State the law of diminishing marginal utility

.MIl2000) DalQBM@O MR @JTRIQIERSE

14.What do you mean by Shutdown point?

@RS gJadSOB @OAUTVA oMM af)(Dy ?

15.Explain any four factors affecting demand for a commodity

B MLILMAEMIOD 6.219BMEOT NIWILBMM oROMEIRJ MIL) RISHEIRUS Qllaidless,

16. Write any two relationships between marginal cost and average cost

MIRDI® 6.al2I0) UBEIDE] .4IRINMAIRISE nBOM®LIRJ @6NE NIMWEBRUBaGHED D

17. List any two motives of demand for money

aléMo GaldBMo 6.2IQPIMES RO @6 GlaJRMDERUB nfEDH
18.Distinguish the concepts

(A).Ex Ante and ( B).Ex post

(A)ag)y @RI (b) ag@y saloqy agamial allsalalless.

19.Write down the two major components of Balance of payment

@RSQYUBlYOBIOMR EENE @IWIMOS “QISEEBRUBGED M
Answer any 5 question from 20 to 25 Each carries 3 scores. (5x3=15)
20 govad 25 QOEQES GaNEKERSINS a@e®Eslel 5 afSROTIM OMEeRLDE:. 3 6ROAd alld..

20.The price per unit of commodity increases from 15 to 20. As a result the demand in the market
decreases from 200 units to 80 units. Based on the above information calculate price elasticity of
demand.

8 qemlg’ cvowmamiledd aflel 15 @aIeld mkme 20 Ga1ow aidrblaleajoud G:emgomicd Grmiled
6.206Mo 200 eigl@d mlme 80 Qemlgowll @06y, ag@sl@d aller soemyfle: 6206Me d:eMgallslends

21.Draw circular flow of income and expenditure in two sector model of an economy

e clige rumie)IMOied amadmoetieaf@. e.arinle®e a0@ld @ae QRS
22.Mention any four functions of money.

alemomilo agemelaje Moal WAmEBU aleadUdleas:.



23. (a) Distinguish between Nominal GDP and Real GDP
(B). Calculate GDP deflator from the following data :
Nominal GDP  : 1500
Real GDP : 1000
a) Mmoo . awl.all. Qo @A =l.cwl. all. Qo meleIEs QMPMV. aEDS:.

(b) monao@ dl.cwil.afl. 1,500 @Galqe@inodia &fl.cuil.all. 1,000 @Gaiqaoemeilad efl.aul.all. culleagod
&egallslends..

24.Explain balance of payment and balance of trade

Qa0 Wlagaje @RSAN WBlayale A @ORMRDY 6.2IQ)B:

25.Explain flexible exchange rate and fixed exchange rate

mudleaimlaw aless. @eoqss aldlaw dleds. memay 6.alQd
Answer any 3 question from 26 to 29 each carries 4 marks (3x4=12)
26 @ 29 QIOEQES GaREIEREIN age®®laje 3 afSRODIM OMERLDE. 4 6RO alld..

26.Give a brief account on the emergence of modern macro economics.

@RUWMlE: mugal MIMICBile: LIMYEDIOM @RAIBRINIOOMERCY] YB ofgD
27.Explain any two limitations of using GDP as an index of welfare of a country.
B EIRYOTIEN oMM alda0@] gl.cll.oll. aRlneiamailan agamaelaj M 6nldRIYPHUD afgDd:

28. Explain price ceiling with the help of a diagram

BB WOWODIOM Muand@eamIes aflal aldlw] allvdle:.dless

29. Distinguish between substitute goods and complimentary good

eJolrunoaim QUTRESo oJOS QAUTYEDSo @@ QUGB af)eDH
Answer any 3 question from 30 to 33 each carries 5 marks (5x3=15)
30 go@d 33 QIeEQES GanEIEREIN cgem®lRj 3 afERTOIT QTMEOHAEDE:. 5 6TRIA@ alla..
30.What is perfect competition?
List out the features of perfectly competitive market
aUmYAeR BISAOTVE. agNOGS af)(®) ?
momyder Blsacrue eemnpgoviad aualewatmeud el e.age

31. How do the monetary policy tools of the central bank operate ,when the economy has to control
the money supply?

o aImn@ilad alsmEBen @BIM. MEBIeMmETE QBemMIIUd erumdcad s@led caoenigal
GalEIM §8HUB agEaREMIET (@JBoDlERmMoY ?



32. Analyses the income and employment determination in a two-sector economy with the help of a
diagram

6@ CEAlEOTIOM MANIWETMINS ENE canaIdESss MuMmId QRIMINGieal AImBRIM. H@IID
mldepae afladeaiMo 6.aiQ)d

33. Explain any three functions of government budget.

naemead mnimdlom agoomala gam’ wdeesud allwdle:olasa
Answer any 3 question from 34 to 36 each carries 8 marks (8x3=24)
34 go@d 36 OEQESS GalEIEREIT agem®slgl 3 afERODIM PTMEOAEDS. 8 6aRod alld..

34. Write down the steps of measuring National Income by Value Added method and income
method.

@gleaidom geydiol, amadm Blo) agarial Oale@auilal 6RUBIAIGBRAIM. &heMENISBM®Imes allaflw
QISEERUE QD .

35.Explain the law of variable proportion with help of a Diagram.

allee@@mRal®m Ml WDWOBIOD TVaN0WETmIeS allidlead
36.(a) List out the features of indifference curve

(b) Explain the optimal choice of the consumer ( Consumer’s equilibrium) with help of a diagram
(a) e aovief muallewasimed allqy PalQd.

(b) palerosmonien poma emEecTMS.] @RIOA0 PealsRIemIAled® muaelmoairun e Wosled
MaNIWEOMINS QllIEBlEBS:.
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